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| INSTRUCTIONS |

1.

Name

Immediately fill in the particulars on this page of the Test Booklet with
Blue/Black Ball Point Pen. Use of pencil is strictly prohibited.

Test duration is ONE HOUR(60MINUTES)

The Test Booklet consists of 40 questions of 4 marks each. The
maximum marks are 160.

There are four sections in the question paper.

The distribution of question, subject wise in each part is mentioned
below.

SCIENCE — 10 Questions
SOCIAL SCIENCE — 10 Questions
MATHEMATICS — 10 Questions
MENTAL ABILITY — 10 Questions

Candidates will be awarded Four marks (+4) each for indicated correct
response of each Question& One mark (-1) deduct for indicated
incorrect response. No deduction from the total score will be made if
no response is indicated.

No candidate is allowed to carry any textual material, printed or
written, bits of papers, mobile phone, any electronic device etc.

After the completion of the test, the candidate must hand over the
Answer Sheet to the Invigilator on duty in the Room/Hall. However, the
candidates are allowed to take away this Test Booklet with them.

Do not fold or make any stray marks on the Answer sheet.
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SCIENCE
What is the maximum resistance which can be made using five
resistors each of 1/5 Q7?
1/5 Q & G UfeRIT T SUANT Hb ST ST [ arall SHfUbad

iRy g
@) 1/50 (b) 100
©50 @10

When a bar magnet is broken into two pieces:
(a) we will have a single pole on each piece
(b) each piece will have two unlike poles

(c) each piece will have two like poles

(d) none of these

T U §S 9% HI al ghal A dieT Sl 8
(@) TR U AP Chs IR Thd 4d ghTl
(@) YD ThS A 3 faudia gagit

(7T) U s | &l GHM Yd g

(8 FTH A PIS T

In torches, search lights and headlights of vehicles the bulb is placed.
(a) between the pole and the focus of the reflector

(b) very near to the focus of the reflector

(c) between the focus and centre of curvature of the reflector

(d) at the centre of curvature of the reflector

eTd, T dTge 3R a8 &l gSaTse B dod HaT AT STl 82
(@) Yd U RIGdD & BIHY & ard

(E) WTGdP & BIHd & ggd e

() WD & HIhT 3R Ihdl Hg & i

(¥) WP b aghell Ig UR

In the chemical equation:
2H,S + X 0, = Y H,0 + 2S0,,
Xand Y are respectively:
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39. PROBLEM FIGURES

NS

A B C D
ANSWER FIGURES

ElidiIN

(@) (b) (© (d)

Direction (Q40): In the following questions, there is a questions figure,

which is embedded in one of the answer figures. Trace out that correct
figure.

721 (Q40): Foffaa Ui &, U Uy sipfa 8, ST SR A A A T

AR § | I e 31 H1 Ul T |

40. Question Figure

i

Answer-figures

bR K] [K

(@) (b) (© (d)
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IS THwR H:

2H,S + X 0, = Y H,0 + 250,

X 3R Y HHT: &

@22 (©) 2,3
©1,1 d 3,2

Potash alum is a?
(a) Simple salt (b) Complex salt
(c) Acid salt (d) Double salt

TleTer fhep ) R 82
() YR THD @) a9
(1) St Foh (9) GIeRT THS

Graphite is a soft lubricant extremely difficult to melt. The reason for
this anomalous behaviour is that graphite

(a) has carbon atoms arranged in large plates of rings of strongly
bound carbon atoms with weak interpolate bonds

(b) is a non-crystalline substance

(c) is an allotropic form of carbon

(d) has only single bonds between carbon atoms

YHISC U A Wed ¢ ford [UaaT 98¢ 4iRehd g | 339 favd sJagR
1 BRI TE § b IBIgC

(@) PTa-T IRHIY[ BId & ol PHIR §eRUIAC alvs &b TTY Tgdl
Y 99 HTa WRATYSH & Tedt Pt I8! el A ATRUA T &

@) T IRfpredy e @

() FT BT TH TP 0 §

() T TRHATILST & o had Uhd s §

Which is the correct sequence of parts in human alimentary canal?
(a) Mouth — Stomach — small intestine — Oesophagus — large
intestine

(b) Mouth — oesophagus — stomach — largeintestine — small
intestine
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(c) Mouth — stomach — oesophagus — small intestine — large
intestine
(d) Mouth — oesophagus — stomach — small intestine — large
intestine.

T 3TER AT H U 7 el STehH B A1 82

@) g > UT > B! 3fid > TSI 31id > FAJOITCH
(@) Ug > AUV > Ue > TSI 3fid - BIY i
(M 48 - UT > bl > BI 3fid > 91 afid

(@) Gg > SV > U > BIS 3id > dgt 3|

Which is the correct sequence of the components of  a reflex arc?
(a) Receptors — Muscles — Sensory neuron — Motor neuron — Spinal
cord

(b) Receptors — Motor neuron — Spinal cord — Sensory neuron —
Muscle

(c) Receptors — Spinal cord — Sensory neuron — Motor neuron —
Muscle

(d) Receptors — Sensory neuron — Spinal cord — Motor neuron —
Muscle.

yfcradt =a1a & gew! 1 Tet 3HH B AT 82

(@) Fad dfet > Jg B ggt > Ty >RApd

(@) R TR > RAvd S w1 el > Wadh dfw > vy

@) Ao > S STl - Tde! dAFBT > Aex IR > AUt
&) RRe - FAH RA - Hg B g > ez R > ||

In a flower, the parts that produce male and female gametes (germ
cells) are

(a) Stamen and anther
(c) Anther and ovary

w?ﬁ,maﬁwww(ﬂﬂmﬁm&ﬁ)mmmﬁaﬁ
YR

(@) G 3R IRATHI @) fraric 3R afderr
(T) WRITHIRT 3R ST (°) YheR 3R et

(b) Filament and stigma
(d) Stamen and style.
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Find the number of triangles:

Byl 1 e I S
() 10 (b) 19
(©) 21 (d) 23

Direction(Q38): In each of the following questions, you are given a
combination of alphabets and/or numbers followed by four

alternatives (a), (b), (c) and (d). Choose the alternatives which most
closely resembles the water-image of the given combination.

fdwr (Q38): Fufeiad Ul s H, 3! quiHTar SiR/aT Temaii o
T Ao fearmar g o 18 9arR faded (a), (), (o) 3R (d) i3
T &1 3 fadmedl &1 g SifoTe S faT 7T waeH & oia-ufafdd 3
e 34 firea-Sea B

FAMILY
@ AVINITA (b) EVINT'TA
©) EVMITA (d) EVINITA

Direction (Q39): In the problem figures the first two figures bear a
definite relation with each other. Bearing that relation in mind pickup
the fourth figure from the answer figures.

=1 (Q39): THw ol B Ug el &l S fid BT Uh-guR & Y U
AT ddy g1 3T ey B & T [ g, IR ol I A st
RLIEN
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34.

35.

36.

Direction(Q34): In each of the following questions, a set of figures
carrying certain characters, is given. Assuming that the characters in
each set follow a similar pattern, find the missing character in each
case.

2T (Q34): FafRed Ul Uy 8, $& qull arelt siiewfadl &1 e
g fea T 81 U8 O §U % Ude e | auf v a0 Ged @

Ui HRd §, U AT & AgdT Iis @it

84 81 88

14 [12] |18 ]9 9|11

(a) 16 (b) 21
(c) 61 (d) 81

If RADIO is written PYBGM, then how would OQDKNG be written in that
code?

Tf& RADIO I PYBGM forar ST &, Al 3 e UTST H OQDKNG Pl vl
forar s
(a) MOBIEL
(c) MOBILE

(b) MOBLIE
(d) MOBILE

Direction (Q36) Find out which of the figure (a), (b), (c), (d) can
complete the pattern given in figure (X).

f1G=T (Q36) A BIO b BT (a), (b), (0), (d) FHHH w1 ferm (x)
fu e e ) T IR Ao 82

x) (@) () (© ()
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The maleness of a child is determined by

(a) The X chromosome in the zygote

(b) The Y chromosome in zygote

(c) The cytoplasm of germ cell which determines the sex
(d) Sex is determined by chance.

T = &1 V@ sq o1 § FefRagidi @

(@) el | X TOREH (@) TS 8 Y TR
(T1) S DIRIehT BT T wtoH Sl et b1 RefRur B g
(ﬂ)%ﬂﬂ?ﬂﬂ@rﬁeﬁhﬁ'@m%l

SOCIAL SCIENCE
What is Rinderpest?

(a) a person (b) disease

(c) a place (d) monument
Revie 72

() T e (@) I

(7T Ueh {19 (&) HRdH
Which of the following is a fibre crop?
(a) Coffee (b) Jute

(c) Tomato (d) Rubber
Frafeiad # 9 & W T WIGR ®ad &2
() BT (@) S

() CHIR () Xdg
Feminist movements are aimed at?

(a) Liberty (b) Equality
(c) Participation (d) Power
ARIGTE! SHEIe! BT 3% T 572

(o) Al () |
WRIRIER] (@) fert
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14.

15.

16.

17.

18.

Which of the following is not a subject the Union list?

(a) Foreign affairs (b) Currency

(c) Banking (d) law and order
frafefad 7 9 1 91 9y g o1 fava TEi 82
@ fac=ftame @Fw

() sfepT (&) BT SR TR

Railway is an example of?
(a) Private sector
(c) second

(b) Public sector
(d) none of these

Y7d fhaenT IeEru 82
@) Fott & CORIERIREREED
() feda CEREEEIERH]

What percent of their deposits do banks hold as cash?

S SOt ST IR &7 a1 UfaRTd et & T4 H 3ad 82
(a) 50% (b) 80%

(c) 15% (d) 60%

Who organized the dalits into the Depressed Classes Association?
(a) Dr. B.R. Ambedkar (b) Mahatma Gandhi
(c) Motilal Nehru (d) Pt. Jawahar Lal Nehru

aferdl ol fSUs aamay THIRITRE 1 fasaq dwifed fasan
@) S &t 3R, SASHY () HeTen et

@) A A

R ESEEIRGIGRES

Who said “ when France sneezes the rest of the Europe catches cold”.

(a) Garibaldi
(c) Matternich

(b) Mazzini
(d) Bismark

oo w1 oId i Biddl § o) q1h1 Y 38 UHS Adi g |
(@) et () HrferT
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MENTAL ABILITY

Directions (Q31): (In each of the following questions, a number series is
given with one term missing. Choose the correct alternative that will
continue the same pattern and replace the question mark in the given
series.

e (Q31): (Rufafad ude Uy §, T T g 21 rs ¢ foras
T UC W & | 98 I8! fadwen  gMAT ot gaM e &l R 7@ 3iR

& 718 s 7 Uy g &1 wfaifud s
10, 100, 200, 310, ....?

(a) 400 (b) 410

(c) 420 (d) 430

Directions (Q32): In each of the following questions, a
alphabet/numeral series is given with one or more term missing.
Choose the correct alternative that will continue the same pattern and
replace the question mark in the given series.

e (032): Fafifad ude gy , T quinTey 3id Jaer i TS §
fores uep 1 31fY Ug qw § | 98 Wel fadhed gfd off 90 Ue &
SR} T 3R €Y 1S o B Uy g 1 wfornfid

WFB, TGD, QHG, ?
(a) NIJ (b) NIK
() NK (d) OIK

6+6+6+6)+6 .
The value of% is equal to:
4+4+4+4+4

(a)1 (b)>
© = (32
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30.

(a) If both assertion and reason are true and reason is the correct
explanation of assertion.
(b) If both assertion and reason are true but reason is not the correct

explanation of assertion.

(c) If assertion is true but reason is false.

(d) If assertion is false but reason is true.

Assertion: If TP and TQ are the two tangents to a circle with centre O
so that LPOQ = 123°, then £PTQ = 57°

Reason: OPTQ is a cyclic quadrilateral.

e Fufifaa uy 8 3ifiieyT & 91g 39 Sl K T T
PHRUIHYF e T g | HUA H T, I8 SR B 59 =0 A fafga
PR

Y, A TP SR T

F% S WY UH I & o & WRREM E 0

dlfb 2POQ = 123°, A9 £PTQ = 57°

HRUT: OPTQ U Teh I Iquw 2|

(a) T SAMUBYT R FRUT 1 T & 3R FRUT AUBYT BT
eI PSR B

(b) TfE 3B YT 3R HRUI S T § Qe HRUT B Y Bt T
RS el 8

(c) T 3HfHHYT T 8 A PRUT A B |

(d) T SHfUHYT 3T § AfPT FRUTI B

A right triangle with 3cm, 4cm and 5cm is revolved about the side 3cm.

The volume of cone so formed is

3 et 4 TR 3R 5 Jeit YTt 9T Th JHH 0T FAYS BT 3 J ol
& IRI 3R GHT H TP WP ST ST ¢ |SHUBR & a1 P H1
ST T 82
(@) 12rem3
(c) 16mcm3

(b) 15mcm?
(d) 20mcm?
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WERIEE] @) fordh
Which state among the following has the lowest literary rate?
(a) Punjab (b) Bihar
(c) Kerala (d) Tamil
frofaftea 3 3 ford o0 & Ol Ae &R e &1 82
COREL @) faer
() (@) da
Which one of the following is leguminious?
(a) Pulses (b) Jowar
(c) Millets (d) Sesa
frofafed & 4 &H W weller 82
(&) aTet () vdR
WEISEY (@) I

MATHEMATICS

1 1

Choose the correct value of NI + NETTWT

1 : H .
te=m upto 91 terms from the following options:

Fafefed il # 8 — =+ —

VO+VI0 V104411

+m+---91u'cffa$m¥lﬁnﬂ?ﬁrqz
(@7 (b)8
(c)6 (d)9

If « and B be two roots of the equation 7x? — 3x — 2 = 0, then the

a B .
+
value of — =S equal to

IR ¢ AR f FHPRUBI GG & 762 — 3x — 2= 0, A — +
F_ o1y fod » ReR

1-p2
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()2 (b)5;
3 27
©3 @)

If the pair of linear equations x —y = 1,x + ky = 5 has a unique
solution x = 2,y = 1, then value of k is
mmm%%’l?x—y = l,x+ky=5ﬂ$&r@?ﬂ'q
JAUF S x= 2,y = 1, Ak BTHF T §?

(@) -2 (b)3

(€) -2 d4

Let a, B (a > f3) be the roots of the quadratic equation x?> —x — 4 =
—PIs+P14Pis

0.1f P, = a® — B™ n € N, then 22sf16~PaeP1s is equal to
P3Py

(@) 15 (b) 16

(c) 17 (d) none of these

AT a, 8 (« >ﬁ)$wmmxz —x—4=0.

3R P, = o — f*,n € N, qg asPre—PruPro—PistPiaPis 5 qRIqR §
n , , P13P1y

(@) 15 (b) 16

(c) 17 (d) TH I PIS e

If the first term of an A.P. is 3 and the sum of its first 25 terms is equal
to the sum of its next 15 terms, then the common difference of this
A.P.is

e fordt AP BT UUH U< 3 § 3R 3P UL 25 US| T T 9P 3T
15 U1 & TNT P SRTSR 8, Al S AP BT IHHI T 3R T 82

(8) % (b)%

© (d)7

You Can Check Your Answer Key & Result on www.careeracademy.in

26.

27.

28.

29.

CATSE 2024

In the given AABC, DE || BC, sothat AD = 2.4cm, AE = 3.2cm and
EC =48cm. Then, AB =

f@u T AdBC B DE || BC, AH AD = 2.4cm, AE = 32em AR EC =
48cm. dd, AB =

A

(a) 3.6cm
(b) 6cm D E
(c) 6.4cm
(d) 1.6cm B C
If5 cotd = 3, then 22283959 ¢ aqual to
4sin6+3cos6
11 16
@ (b) 55
(c) ;—j (d) none of these

3R 5 cotf = 3, dg 2Sn0-3¢0s8 {r g HRIER T

4sinf +3cos6
11 16
@ (b) 25

(©= (o) FTHIDIE 8T

In the given figure, O is the centre of a circle in which LOBA = 20° and
£0CA = 30°. Then, £BOC =?

fRumfEd, o te FadTHa 8 oH 2084 = 20° 3R 20c4 =
30°. @, BOC =? A

(a) 50°

(b) 90°

(c) 100°

..
o G
(d) 130 X

Directions: In the following questions, a statement of assertion is given
followed by a corresponding statement of reason just below it. Of the
statements, mark the correct answer as
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